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Math 123 Exam 1 SHOW ALL WORK Name

1. Suppose a survey of 1,435 American workers found that the mean commute distance was 13.7 miles.

Identify the sample and the implied population in this problem.
Sawvple : 1,425 Awevican workers

Rpulation : AVl American workers

2. If a census of all American workers found that 82% drive to work, is the 82% in this question
a parameter or a statistic? Explain.

Parameter . Yhe data in Taken for the population of all American workers

3. The following data gives the number of people who attended a movie for each of 26
showings. Build a frequency distribution table for this data, usin@:_lgsfsej_.ﬂour table only

must include the class limi ither midpoints or boundaries along with the frequencies.
pain May

2332@453349215244372922@

44 4 50 39 44 42 31 45 49 56 57 79 86 24

Class class \imits boundanes | Prequencies 13- 12:81< 57162 >
| 12 - 2% .5 - 28.5 ' 4 \3 4
2 29 — 45 285 — 45.5 13 TET 13
R 4b - 2 B AD5 - 42.5 b it b
4 63 - 4 b2.6 — b | - \

5 80 — b | 7.5 - 9.5 2 T 2
l

4 /Use your table from Problem 3 to make a frequency histogram. Be sure to label the graph

appropriately. DO NOT label the vertical axis as frequency. Be more specific.

s F of rpeople  alfendened o moviec - 26 showingc,
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5. The following stemplot gives the attendance at a random sample of 16 concerts. | .ent-if\\( the

, discuss the shape of the distribution, and identify any outliers. Here is th Ke 3/7K
meang 3700 ~
mean = 33

& 1 -1.5(1§®)

0/83< myn + 8
15 (TQR) —

\/’ 1/24° A3 Mode: 33O @l m;){azg

e 2/0x7 205 -1.5(3) —12.5 ;;( c425  LGR:22
@/1/2@3’3/ 42,5405 () 05 % 6‘\ Shape: gymmetric Hay "
4/005// o
5/¥97° Outlier(s) Np outher
6/8/

6. Which “gverage” would be a better choice for the data in problem 5: the or the
pedian? Explain
] both o} same number. It is does aot maibr which
med\lm
— 3 Aot woe.

fo R Wil

ot AT 0

7. Calculate the mean (to one decimal) and_median {by hand). You must show work for credit.

4 6 15 10 7 5 /¢
¢+ B 6 7 10 %
| I
\2=<9= b5 wedian

4+5+bT7rp 5477 N8 mean

8. Calculate the G@mple standard deviation for the data in Problem 7. You MUST show your
work (by making a table as shown in the text, for example) to get credit.

X | x=x | (x=®Y
T 0 I X T L1 L S Standard deviatien - 4.0702)
5 -2.4 n. 84
b | -8 3.2 ” “
7 1 -0% D. b4
0 1.2 4. 84
1> 2.2 5. 84




9. Members of two different groups were asked their ages{lo_)ges_dgniia@ afetlrementlmg_f
and@esndents ofiSanta Marig. Which group would you expect to have the higher standard
deviation in their ages? Explain.

Santa Maria residen’s would have a lager stadad deviation

becanse sampi€e  will most \kely not e g\‘m‘\\m’ W oage.
come might are closer. while A retitement home people ore much pker Than
Santa Maria residents. MosT ot the retivement home people ace 60 to older,

A rvetirement home Santa  Maria res dents
SRR . _._,.....A_,.._.____;;_A:_A‘.

= T

10. Is it possible to score 84% on an exam and yet be in the 30%" percentile? Explain VERY
clearly, using the definition of percentile. 2™ percentile

\’es\ The perton got 4% on an exam , but wmeet ot dhe gsfydents (Vom?er((n'))

9ot much more high <Core on the exan

\“3“"—‘ You arc hae

+
gy/’ " wany _swuden
3o Suduity got und " Tove students got up To B4% on m EKANY

‘ /"\7\_._—\_/\ 84'/0(\ */L"““"“‘*\\ tovs/o
— = e
11. Which of the following animals is heayi tve to otheérmembers of its species: a@.
izzly bear if the ﬁmaei’gat i{600/Ibs. with standard deviatio pounds, or a 3.5 ounce rat_.
if the mean weight is 3 az. with staxd oz. Explain, using z-scores.

Sece a  paper.

\

2 ]
12. How many meals are possible if you get to choose two side dishes, one main dish and one
dessert if there are 13 side dishes, 10 main dishes and 6 desserts to choose from?

I3C1- |0C|' eC\ = fg. 0.6 =(4-(>S?O!
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13 _There are_"l Jea \\m a jiil’ “of which arOf those 100 beads, there are48that are
Oi.thﬁﬁ__rgg beads, _éva\g stziped. You chose one bead at random from this jar.

yed Rl
What is the probability that the bead is not red? = 4-‘0
— - s T
1/ ﬂ - . 31 40

e ﬂl What is the probability that the bead is red or striped?

1-0.12_— ‘f(‘k,‘/jp./‘/)ﬂ - .q .

14. To win a lottery, you must correctly choosggm_t;grs between 1and 44. What is the

probability of winning this lottery? 3 /
Ul 61 n2o 913455534 ¢ 57 f/t7
T T e —— = ) /
I ( [ 4-1.‘ 2,650 g5 many decinal // é :

: &
15. In a group of nﬁ\e people, three are.wgimen and six_are men. Tvgo people are chosen at

random from this group, without replacerapt. Answer the following:

Are the events ’Zf@‘p“er_ggg_js a woman'and “second person is a woman? independent?

EXpIain;T 3 \ nd 3 \ H F \‘ +01‘l
P(E Aw)=3=3 P2 W) 3=3 “E'\"'s | 2
I iz e euti = 710) o %
Find the probability that both people are women. YL ud I] N \ &3
3C2 LV \ :a/_'\ 1?“/((
—_— = T = 0’ 08

Find the probability that neither person is a woman.

9(2 3 “’LAJ . N \fﬁ ﬁ

0C ) g
2
2=t o B A 104!7’
ﬁ Ca 3b
Find the probability that at least one of the two people is a woman. ’]/

|- 0.4 =[0.5%3]33 %
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Same  tresult,
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